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L.From a production possibility curve, we can learn the following important economic
concept or concepts:

(a) Scarcity (b)Law of increasing cost

(c)Economic cost {d)All of the above.

2.Which of the following statements is true?

(a) A price ceiling on insurance rate will change the supply and the demand curves.
(b)A price ceiling on insurance rate will only shift the supply curve to the right.

(c)A price ceiling on insurance rate will only shift the demand curve to the right.
{d)None of the above.

3.The minimum wage rate in Taiwan
(a)is about NT $15840 per month.
(b)is usually about 70 percent of the average wage.
{c)is always constant over time.
(d)is applied to all employees in Taiwan.

4. Assume that the quantity demanded for X ((,) is decided by its price (P,), consumer

income (/), and the price of product ¥ (P),and Q. =100-2P —0.027+0.5 P,
(a) X belongs to normal goods.

(b).X belongs to inferior goods.
(c)X and ¥ are complements.
{d)None of the above.

3.A competitive firm has a short run cost function C (X) = 3X°- 0X2 +10X + 6
{a) The firm’s average variable cost function is 9.X%- 18X +10.
(b) The firm’s marginal cost function is 3.X2- 9.X +10.

(c) The firm will minimize its average cost if it produces the output level at 1,
{(d) None of the above.

6.Which of the following statements is true?

(a)It is possible that a technology exhibits increasing returns to scale, diminishing
marginal returns, and diminishing marginal rate of technical substitution.

(b)With a public good, Pareto efficiency requires that the sum of individual
marginal rates of substitution equal the technical rate of substitution.

{(c)A Cournot-Nash equilibrium in price strategies is in fact a competitive
equilibrium, in which price equals marginal cost.

(d)All of the above.
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7.Assume that the unit product price of an electronic company is 800, and its demand

curve is as follows:
P=1200-7, if P> 800
1400-157, if P <800

If its marginal cost curve is MC =¥ Please calculate Y that maximizes its proﬁt

(a) Y=400. (b) ¥ = 800.
{c) ¥ =1350.

8.A company wants to maximize its production under its budget constraint.

(d) None of the above,

Assunie

that the production function of the company is Q@ = 5C*L%, and its budget is -
10,000C + 40,000L < 1600,000, Here 10,000 is the average cost of C (capital} and

40,000 is the average cost of £, (labor).

(a) L =20. (b) C=40.
{(c)L.=C. (d) None of the above.
- FFRRE (40% )

A RPN BRI B |- AT (TRt 2
. L. Walras
. LA Schumpeter
W.W.Leontief
. M. Friedman
. Lucas

[ S N VR R,

= gAeTE IR - RSN S

1 » market demand for a public good
2 -+ command and control approach
3 ~ market approach

4 ~ allocative efficiency

3 -~ technical efficiency
"% ~ social discount rate
77 - risk

(20)

Which of the following statements is true?
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For environmental protection, there are so called 3R’s, and one
of them is Recycling. What are the other two R’s? (Just name
them) (A% 4 45)

. What is meant by sustainable development? ( A#% 8 4 + &

£ RFME 100 F)

RIBRIGamBEmp KFFH (-~ ARARKZ (X
#2049 BEAFALB 400 F)
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